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St George Girls High School

Year 9

Common Test 1.
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Mathematlcs

Advanced Course

Time dllowed: 75 nminutes

70 Marks

Instructions:

- o Set out work clearly. .
» Show all working when réquired.
e Calculators may be used.

Section A ) + /22
Sectlon B )
Question 1 i /12
Question 2 I /12
Question 3 I /12 )
Question 4 , 7 12
Total / ’ /70
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Part A
22 Questions — 1 mark each

(Answers only in the Answer Coluﬁln)

Question

Answer

L Solve 4n+10=2

2. Evaluate 8m°

3. State the number of significant figures in 0.00802

4. The speed limit on freeways is 110km/h. What is ﬂns
in metres per second?

2
5. Evaluate § 3

6.  Find the area of: < em

7. If t=-2, evaluate 5¢2

PO "
>
L >

~ ) -
LN 4 2. X

8.  Write the inequality, which is répresented by the graph:
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I;artA (cont’d)

Question

Answer

34x3/28.5
.87 ’
Do not calculate the answer to your estimate.

9.  Show how you would estimate

10. Find the size of 4BC

Not +o
s,caz[f,

A

1. If 1%_/3 cost $1.56 what is the cost per litre?

12. Solve for x: 4% =32
\

"\,
\
\

13. Angela measured the width of her desk as 65.0cm | .’

What could the actual width have been?

14. Use the formula V=925 to find V' when ¢ =2.4x106
and #=3.8x107%,

Give your answer in scientific notation.

15. Find the radius of the circlé whose perimeter is
157 cm. -

16. Solve é
N x— x
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Part A (cont’d) -

Question

Answer .

17. ¢ Is AC|DF?-
A .
Explain your answer.
Not 4o
seale =

18. Aboyhas x 10¢ coins and y 20¢ coins in his pocket.
Wiite an expression for the total amount of money i
his pocket? '\ :

19. Simplify (giving your answer with a positive index)

x—2m

20. Make y the subject of x =——1——
: : I+y

21, Calculate th?q size of PQR




i
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Part B

Question 1 (12 marks) - Show all working ' ) Marks

a) The mass of a bucket full of water is 1475g. When thc bucket is half full its mass is
937 g Calculate the mass of the‘empty bucket 2

AT

b) p,gandrare integers where p >g. For what values of r is; 2

@ pr=gr () pr<gr

¢) A computer printer brochure reads “Prints at speeds of 22ppm (pages per minute)
black and 15ppm colour”.

(i) How long would this pnnter take to pnnt a 150 page document of which
35 pages are in full colour? ' 4

(if) Is this time exact? Explain,
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Question 1 (cont'd) Marks
d) A thunderstorm is occurring 7km from where you are standing. . 4

() How long does it take for the light from the hchtenmg to reach you (use the
speed of lightis 3x 10° km/second

(i) How far is your home from the thunderstorm if your mother tells you it took
15 seconds for the noise from the thunder to' reach her after she saw the
lightening? (Use the speed of sound is 330m/s). Give your answer T kilometres.
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Questjon 2 (12 marks) - Show all working

a) (i) Convert 0.37kgto mg.

(i) Convert 37900cm’ to m?

b) Forthe /sectc;r:

v

(i) Find the area.

i

_(ii) Findithe perimeter.
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Marks Question 2 (cont'd) Marks
2 . 0 6
(i) Find the area of the thombus.
4,

(ify Calculate the length () of each side and the perimeter of ‘rhe.rhomrbus.

(iif) Find the distance (%) between the parallel sides.
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{ !uesﬁog 3(12 marks) - Show all working Marks Question 3 (cont'd) Marks
a) Expand and simplify: 5 ¢) Simplify (give all answers with positive indices) 5

@ (e+3)x- 5) | @  20a*p? +104°53

; r
@ (y-37
2
@ 5
(i) x% —(x+1)x-1) X
2

b) ‘Factérise fully
@ Tx*y+ 14xy — 21x?
6p2q—3 ><5p3q2

e

G Saeb)-ba+s) - |
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Question 4 (12 marks) - Show all working
a) Solve the equations:

M 5(n-2)=3(n+4)

a+5._a—1,~
2 3

(if)

b) Solve and graph the solution on the number line.

6-—2xi4 :
3 .

age

Marks
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Question 4 (cont'd) _ Marks
¢) Aboyisi2 yéafs older than his sister. In 4 years time he will be twice her age.

. Write an equation to represent this information and solve it to find their ages. - 3
d) Rearrange the formula to make “R” the subject: , 2

R

End of Paper
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70 Marks

s Set out work clearly.
» Show all working when réquired.
¢ Calculators may be used.

~ Section A € /22

. ‘Section B

'Quesﬁion 1 /12

Question 2 . '/ 12

Quesﬁon 3 /12 .

Question 4 /12
Total ot/
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Part A
22 Questions — 1 mark each

(Answers gnly in the Answer Column)

Question Answer
1. Solve 4n+10=2 N2
2. Evaluate 8m° 5
3. State the number of significant figures i 0.00802
"0 3.
* platehdges
4. The speed limit on freeways is 110km/h. What is this Ay I
' o
in metres per second? 35, 205 M/ s
-2 |
5. EBvaluate 8 3 3
B \
6. Find the area of: 1em
Relm (0 em K0 cML
Aot +o
Scale. >
13 ¢
2
7. If t=-2, evaluate 5¢ 6‘?‘)1 ¥4 50
8. Write the inequality which is represented by the graph: .
TR | ot




. N
St George Girls High School i
Year 9 — Common Test 1 ~ Mathematics Advanced — 2005 Page 3
Part A (cont’d)
Question Answer
. ' | R
o 34x3/28.5 SR '
9.  Show how you would estimate =7 3L o K
Do not calculate the answer to your estimate. 7
10. Find the size of ABC
N01' +o o’
s cale
A £

11, If I%L cost $1.56 what is the cost per litre? -

$log

12. Solve for x 4% =132
S .
U A xes

.

Jlas-%

13. Angela measured the width of her desk as 65.0cm
What could the actual width have been? _

§4.95 S65.0< 6508

N

£4.95 K 6570 CbS0S

14. Use the formula ¥ = %t- ‘to find ¥ when ¢ =2.4x106

and £=3.8x107, HEsEto
Give your answer in scientific notation.

15. Find the radius of the circle whose perimeter is
157 cm. T = (ST ) (¢7.S'Cm

&i= =15
16. Solve 4 3
' x-2 x 4 yﬂb’”)ﬁ»— = XY = b
Sy

Y e 3 e n ) )("—“Q
v \/ /
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Part A (cont’d)

Question

Answer

.C—o“ 25 ate egual.

17. ¢ I AC|DFY Lints st b parale)
A Explain your answer. V.opp. Cs 6'1;‘@‘ e
Not 4o -
sn.wle— F
1%
o S
18. A'boyhas x 10¢ coins andy 20¢ coins in‘his pocket.
Wiite an expression for the total amount of money in
his pocket? X : (b x ¥ ou‘/) @
(l B (’105) canits .
19, Simplify (giving your answer with a positive index) _m
, o =%
x 2 7:1%'- (=) g 1
T : h & ):m e
‘ C I Yl A
20. Make y the subject of x=—— | XA
)C[ { "5 = = ))z A
x FX =
x i =t
21. Calculate tht,:l size of PQR
< Par=50

22. Find the area of the ‘equilateral triangle.

kv
gk > -1
= Y

|-

47

Yo o
gt 0
b\r’w*
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Part B
Question 1 (12 marks) Show aH workmg

a) The mass s of a bucket filll of water is 1475g. When the bucket is half full its mass is
937g. Calculate the mass of the empty bucket

(<18
L = s
¢ e

=%a%9

b) p, g and r are integers where p > g. For what values of » is:

@ pr=gqgr () pr<gr
r =0 o '\QJQ’KVQ/
Na L0

c) A computer printer brochure reads “Prints at speeds of 22ppm (pages per minute)
black and 15ppm colour”,

(i) How long would this printer take to prmt a 150 page document of which
35 pages are in full colonr?

3S  pang coloo?
— -

i
: e
103 o ins plode +oh
, 2
otel Hhe = Yoy Coming S¢s
i<

(u) Is this time exact? Explain.
nundhq off
()(o\(/:‘\(ﬁ“"y

Question 1 (cont'd)
d) A thunderstorm is occurring 7km from where you are standing.

(i) How long does it take for the light from the lightening to reach you (use the
speed of light is 3 x 10° km/second.

. -5
7 - .3 '§X|0j
-

(i) How far is your home from the thunderstorm if your mother tells you it took
15 se_:conds» for the noise from the thunder to6 reach her after she saw the
lightening? (Use the speed of sound is 330m/s). Give your answer ik kilometres.

T=D D=ST
s 433‘0)45
7 = YaTOk
o T .
IXx\o = % 951Cm
-
=7.3Lx10 5

Marks
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Question 2 (12 marks) - Show all working Marks

a) (i) Convert 0.37kg to mg. 2

A °
—=370%00om 9
(i) Convert 37900cm’ to m*
23w

4

b) For t

(i) Find the area.

A ‘-% *TTl

- '2,4»\-75@'\1

. (ii) Find the perimeter.

P’-Z,oﬂ% 1;{«

=0 +§/6 207

=7 TN
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Question 2 (cont'd) Marks
c) 6

() Find the area of the rhombus.

frea= b x4y

Z5Yogmt

(if) Calculate the length (J) of each side and the perimeter of the rhombus,

h*
I =I44+Soks
=L5028
{ = 1.5 em,
P =285 x4
= lOUA

(iif) Find the distance () between the parallel sides.
A =S%
=15 5%k

=S4
s

ERNRS
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Question 3 (12 marks) - Showall working

a) Expand and s.iiriﬁlify::" o

b)

O (x+3)x=5" -
x(x—r)’rl(x“é‘)
AR PR
e

@ (2y-3)
' (O45) < gEazebib®
‘;(E‘I)L—’Lx lj %3 3T
=yt n\yd"i

@) x% —(x+1)x-1)

p Sl (S
Lo
=3 =¥

=

‘Factorise fully

(i) 7x2y +14dxy - 21@12
7y (% +2.-3y)
= 20"y ey e
>7>c3 (;L +1—th)

(i) S5(a+b)—b(a+b)
(S‘—(:)[a +b)

Marks
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Question 3 (cont'd)
c) Simplify (give all answers with positive indices)
@ 20a*b? +102°p°
’L‘DquL
;/-‘—T_j‘
loeb
=Tab” clan
b

=1

b

2
R .
8x

§4 !
I’

2 -3 32
(i) 6p°q " x5pq
- bo2f

Marks

5
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Marks Question 4 (cont'd) " Marks

_ Quesﬁon 4 ('12 rparks) - Show all working A
a)  Solve the equations: , - 4 c) A boyis 12 years older than his smter In-4 years time he will be twice her age.

. . . . Write an equation to represent this mformatlon and solve it to-find their ages. 3

@ S(n-2)=3n+4)

3 Lt sigkes 4 bex

Shato w3n AL - : | o boySagt xop
Ln Ao =t . ' I : .
e T o xr1b, =+ L[2H)
Tl o ‘ WG = 2k
=8
445 a¥1._2 . L - o : o cosils age § L
(11) 2 3 S - o : $wf‘\a,fa9“"30:";.
S _a-
¢ ﬁ%ﬂ%’] =10
(at5) - L{a=]) =1L
3q .’_,S——L‘\ ‘\‘_L,:YL . . :
“at = d) Rearrange the formula to make “R” the subject: ' 2
-1 =17 ' '
b) Solve and graph the solution on the number line. Ty 3 . T =2\/-R; . N
6-2x>4 jhoulof read 6-1n Sq . T = (V((P ,
3 3 - N =/ _
.o d - € £
’L>L7€ . . . . '
—L . .,2_ S R = 1};— i
x& -3 7 ]
) l_éJ— a ) q ' Ly
L 40 * .

End of Paper-




